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Capacity - 1 
1. 85 liter 37 milliliter is equal to ____________ milliliter. 

a) 8537 ml     b) 85370 ml 

c) 85730 ml     d) 85037 ml 

2. ____________ liters __________ milliliters is equal to 76379 milliliters. 

a) 76 l 937 ml     b) 76 l 379 ml 

c) 76 l 973 ml     d) None of these 

3. ____________ liters + 45 milliliters = 57045 milliliters 

a) 57 liters     b) 57000 ml 

c) 45 liters     d) Both A & B 

4. 206 l 657 ml + 35005 ml + 34 l 74 ml = ____________ l ____________ ml. 

a) 736 l 275 ml     b) 275 l 736 ml 

c) 275 l 36 ml     d) None of these 

5. 39003 ml + 45257 ml + 3029 ml = ____________ l ____________ ml. 

a) 86 l 289 ml     b) 87 l 298 ml 

c) 87 l 289 ml     d) None of these 

6. By how much 125 l 555 ml is greater than 74005 ml? 

a) 51 l 505 ml     b) 51 l 550 ml 

c) 51550 ml     d) Both B and C 

7. One family consume 245 liters 345 milliliters of water every day. How much water they will 
need for 9 days? 

a) 2208 l 150 ml     b) 2208 l 105 ml 

c) 2280 l 105 ml     d) None of these 

8. If a bottle contains 350 ml of mustard oil. Then how much oil is present in 45 such bottles?   

a) 17 l 550 ml     b) 15 l 750 ml 

c) 15 l 570 ml     d) None of these 
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9. Maria bought 19 liters of milk. 7 l 325 ml of milk is used in making sweets and 3478 ml is used 
making milk chocolate. How much milk is left for making tea and coffee? 

a) 8 l 197 ml     b) 8 l 971 ml 

c) 8197 ml     d) Both A and C 

10. A large container is having 25 liters of medicine. If all the medicines will be filled in 250 ml of 
small bottles, then how many bottles will be needed? 

a) 105 bottles     b) 150 bottles 

c) 125 bottles     d) 100 bottles 

11. Bob used 35 l 750 ml of petrol in 1st month. He used 32 l 645 ml of petrol in 2nd month. How 
much total fuel did he use? 

a) 68 l 935 ml     b) 68 l 395 ml 

c) 68 l 593 ml     d) None of these 

12. Which of the following is correct? 

a) 757 ml + 1236 ml = 1 l 939 ml 

b) 5000 ml – 1 l 30 ml = 3 l 970 ml 

c) 7350 ml + 30 ml – 5 l 235 ml = 2 l 140 ml 

d) 7 l – 6 l 543 ml = 557 ml 

13. There are 7 packets of orange juice each containing 750 ml. If John drank 2 l 786 ml, how 
much juice is left? 

a) 2 l 364 ml     b) 2 l 564 ml 

c) 1 l 464 ml     d) 2 l 464 ml 

14. How many 9 ml make up 5 l 76 ml? 

a) 556      b) 565  

c) 564      d) 570 

15. Bob had 7 l 560 ml of apple juice, his friend John drank 1/5 of it. How much juice left with 
Bob now? 

a) 6 l 48 ml     b) 5048 ml 

c) 6084 ml     d) 5 l 84 ml    
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